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Lecture Worksheet

Thursday 9/24/2020
MAIN POINTS OF LECTURE

I. SAMPLES, BIAS, AND RANDOM ERROR

a. A representative sample from some population has the same characteristics as the population from which it was drawn, and so observations from representative sample data can be used to make valid inferences about characteristics of a population

b. Descriptive Statistics: Tools for describing the attributes of a sample of observations

c. Inferential Statistics: Tools for making inferences about population parameters based on sample statistics (or sample estimates)
d. Even representative samples will have slightly different characteristics than the population from which they were drawn because of sampling  error
e. However, when samples are representative of the population from which they were drawn, we can use the tools of inferential statistics to quantify the amount of sampling  error … and thus to make inferences about the likely range of possible attributes of the population

f. The amount of sampling  error depends on (among other things) the size of the sample 

g. For example, the conservative margin of error for percentages (±
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) expresses the range within which a population percentage likely falls (with about 95% certainty) … but only if the sample of observations is representative of the population from which it was drawn
QUESTIONS
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Polling averages are adjusted based on state and national polls, which means candidates’ averages can shift even if no new polls have been added to this page. Read

more about the methodology.
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1. Construct a confidence interval (aka, the margin of error) for the percentage of likely voters in Minnesota who would have voted for Trump as of the day this poll was taken
The conservative margin of error is 1 divided by the square root of n … which in this case is 615. Thus, it is ±0.04, or ±4%. That is, the value for Biden is 57%±4% and the value for Trump is 41%±4%. The confidence intervals are thus 53% to 61% for Biden and 37% to 45% for Trump.
How large would their sample have to have been for their confidence interval (aka, margin of error) to be ±1%?
To get a margin of error of ±1%, you’d need 1 divided by the square root of n to equal 0.01. Solving for n, you’d need a sample size of n=10,000 
2. (From the synchronous class session) What percentage of the students who attended the synchronous class session had ever been tested for COVID 19?
I can’t remember, but it’s not important … this was really just a check on whether you attended and/or watched the recording!
3. (From the synchronous class session) What percentage of the students who attended the synchronous class session were first year students?
I can’t remember, but it’s not important … this was really just a check on whether you attended and/or watched the recording!
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